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Name: …………………………..              Class: 12/…………….. 

First Period Quiz (No 1) 

 

I- Vocabulary (20 Marks) 

A- From a,b,c and d choose the best answer : (4x5= 20 Marks) 

1 The man was finally released as the lawyer proved that he wasn’t………………...  

a) foreign b) petty c) guilty d) incapable 

2. My family enjoyed a peaceful weekend at the beach………………… . 
a) diversity b) resort c) abuse d) litigation 

3. My friends may..……………………..the airline if their luggage gets lost again. 

a) seek b) sue c) afford d) value 
4.The handicapped should be treated……….………to restore them to normal life. 

a) compassionately b) regardless c)unfortunately d) ultimately 
 

 

II- Grammar (20 Marks) 

B- From a, b, and c choose the correct answer as required: (4x5= 20 Marks)  

   5- I prefer staying at home. My friends enjoy going to the cinema.   (Join using: whereas) 

    a- I prefer staying at home, whereas my friends enjoy going to the cinema. 

 b- I prefer staying at home, my friends enjoy going to the cinema whereas. 

 c- I prefer whereas staying at home, my friends enjoy going to the cinema. 

 

   6- It (rain) since last night. We may encounter a flood this way.         (Correct the verb) 

    a-It rained since last night. We may encounter a flood this way. 

 b- It rains since last night. We may encounter a flood this way.  

    c-It has been raining since last night. We may encounter a flood this way. 

 

   7- Omar had written five letters before he went shopping.                      ( Use : after ) 

    a-After Omar had written five letters, he went shopping.  

    b- Omar had written five letters after he went shopping.        

    c- After Omar went shopping, he had written five letters. 

 

   8- If she (accept) the job offer, she will have to relocate to a new city.     (Correct the verb) 

   a- If she accepted the job offer, she will have to relocate to a new city.      

   b- If she accepts the job offer, she will have to relocate to a new city.       

   c- If she is accepting the job offer, she will have to relocate to a new city.        
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III- Writing (40 Marks) 
 

             The number of migrants has increased dramatically in the recent years. 

Plan and write a six-sentence paragraph about the main reasons for migration.   

 

                                                               The Outline     (5 Marks)                                                                                                                                

I- Introductory sentence: 

…………………………………………………………………………………………………………

………………………………………………………………………………………………………… 

II- Supporting details: 

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

………………………………………………………………………………………………………… 

III- Concluding sentence: 

…………………………………………………………………………………………………………

…………………………………………………………………………………………………..…… 

Write Your paragraph Here   (35 Marks) 

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

………………………………………………………………….…………………………………..… 
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Name: …………………………..              Class: 12/…………….. 

First Period Quiz         (No 2) 

 

I- Vocabulary (20 Marks) 

A- From a,b, c and d choose the best answer : (4x5= 20 Marks) 

II- Grammar (20 Marks) 

B- From a, b, and c choose the correct answer as required: (4x5= 20 Marks)  

5- They (celebrate ) their graduation for 5 hours now .                         ( Correct )  

a- They had celebrated their graduation for 5 hours now.   

b- They were celebrating their graduation for 5 hours now. 

c- They have been celebrating their graduation for 5 hours now. 

 

6-Young people are fond of surfing the Internet. They don’t read books.  

                                                                                                                   ( Join using: instead of) 

a- Instead of reading books, young people are fond of surfing the Internet. 

b- Instead of young people are fond of surfing the Internet, they don’t read books. 

c- Instead of young people don’t read books, they are fond of surfing the Internet.                                                                                                  

 

7- I borrowed some books after I (go) to the library.                         (Correct the verb)  

a- I borrowed some books after I going to the library. 

b- I borrowed some books after I had gone to the library. 

c- I borrowed some books after I was going to the library.  

 

8- If I had received my electronic passport earlier,………………     ( Complete) 

a-If I had received my electronic passport earlier, I will travel. 

b-If I had received my electronic passport earlier, I would travel. 

c-If I had received my electronic passport earlier, I would have travelled. 

  

1.  Despite the ………………….. of cultures, we all love and respect each other. 

a) diversity b) supporter c) famine d)  empathy 

2. Fines must be ……………………. on those who exceed the speed limits.   
a) claimed b) deployed c) imposed d) displaced 

3. When oil was discovered in the Gulf Region, a/an …..…….. in their economy started.   

a) abuse b) litigation c) boom d) liberty 
4.  A large number of students tend to travel to ……… countries to seek better education.      

a) meticulous b) foreign c) petty d) aggressive 
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III- Writing (40 Marks) 
 

     Although many people migrate to different countries, they face many problems in the new 

countries. 

Plan and write a six-sentence paragraph discussing the disadvantages of migration. 

                                                       The Outline     (5 Marks)   

        I-Introductory sentence:                                                                                                                                                      

……………………………………………………………………………………………………. 

……………………………………………………………………………………………………. 

II- Supporting details: 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

………………………………………………………………………………………………… 

III- Concluding sentence: 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

………………………………………………………………………………………………… 

Write Your paragraph Here   (35 Marks) 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………. 
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Name: …………………………..              Class: 12/…………….. 

First Period Quiz         (No 3) 

 

I- Vocabulary (20 Marks) 

A-From a,b,c and d choose the best answer : (4x5= 20 Marks) 

II- Grammar (20 Marks) 

B- From a, b, and c choose the correct answer as required: (4x5= 20 Marks)  

5- They have already finished writing the reports.                                      (Make negative) 

a- They don’t finish writing the reports. 

b- They didn’t finish writing the reports. 

c- They haven’t finished writing the reports yet.  

 

6-The teacher had explained the lesson before the students started asking questions. 

                                                                                                                           (Use: after)   

a- After the teacher had explained the lesson, students started asking some questions. 

b- The teacher had explained the lesson after students started asking some questions. 

c- After the students started asking questions, the teacher had explained the lesson. 

 

7- Emily spends her free time in a more effective way than I do.         (Use: effectively) 

a-Emily spends her free time more effectively than I do. 

b- Emily spends her free time more in effectively than I do. 

c- Emily spends her free time in a more effectively than I do. 

 

8 - If the team (win) the championship last year, they’d celebrate their victory with a parade.     

                                                                                                                                    (Correct)   

 a- If the team wins the championship last year, they’d celebrate their victory with a parade. 

 b- If the team won the championship last year, they’d celebrate their victory with a parade.  

 c- If the team winning the championship last year, they’d celebrate their victory with a parade.   

1. ……………. is a very important Islamic value that helps spread peace among people. 

a) Violence b) Tolerance c) Rift d) Resort 

2.Young people, nowadays, ...........................good jobs in the private companies.   
a) row b) prove c) seek d) deploy 

3. Honesty is the most important…………….……in social relationships.  

a)  penalty      b) hardship c) migrant d) principle 
4.  All students were waiting…………………..……….outside the exam room.     

a) compassionately  b) nervously  c) unfortunately d)  regardless 
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III- Writing (40 Marks) 
 

    Laws are important for any society. There will be chaos without them. 

Plan and write a six-sentence paragraph discussing the importance of laws. 

                                                       The Outline     (5 Marks)                                                                                                                                 

I-Introductory sentence: 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

………………………………………………………………………………………………… 

II- Supporting details: 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

………………………………………………………………………………………………… 

III- Concluding sentence: 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

………………………………………………………………………………………………… 

Write Your paragraph Here   (35 Marks) 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

………………………………………………………………………………………………… 
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Name: …………………………..              Class: 12/…………….. 

First Period Quiz         (No 4) 

 

I- Vocabulary (20 Marks) 

A-From a,b,c and d choose the best answer : (4x5= 20 Marks) 

II- Grammar (20 Marks) 

B- From a, b, and c choose the correct answer as required: (4x5= 20 Marks)  

  5- Amal went to the party after she had bought a present for her friend.   ( Use: before) 

  a- Before Amal had bought a present for her friend, she went to the party.             

  b- Before Amal went to the party, she had bought a present for her friend.              

  c- Amal went to the party before she had bought a present for her friend.   

 

6- Omar had arrived before the bell rang……………..?                 ( Add a tag question) 

 a- Omar had arrived before the bell rang, doesn’t he?                         

 b- Omar had arrived before the bell rang, hadn’t he?                               

 c- Omar had arrived before the bell rang, hasn’t he? 

 

7-The old house is small. The new one is big.                    (Join using: in comparison with)    

 a- In comparison with the old house, the new one is big.             

 b- The old house is small in comparison with the new one is big.   

 c- In comparison with the old house is small, the new one is big. 

 

8- If Tom hadn’t driven fast, he …………………………….                            (Complete)  

a- If Tom hadn’t driven fast, he wouldn’t have had an accident.                                                                                        

b- If Tom hadn’t driven fast, he wouldn’t have an accident. 

c- If Tom hadn’t driven fast, he won’t have an accident. 

                                                                                     

                                                                                                                                                                         

  

1.  You need to …………………. that you are not responsible for the accident. 

a) emigrate b) avert c) necessitate d) prove 

2.  His early death was the………………consequence of his unhealthy lifestyle. 
a)  inevitable b) legal c) disgruntled d) universal 

3. The family decided to invest in a rental……………………to get extra income. 

a)  impulse      b) property   c) defence d) famine 
4. ......................., I didn’t have my credit card with me or I’d certainly have had this offer. 

a)   Ultimately   b)  Unfortunately c) Compassionately   d) Regardless 
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III- Writing (40 Marks) 
 

    No human life is possible without values 

Plan and write a six-sentence paragraph discussing the different ways of helping the needy. 

                                                            The Outline     (5 Marks)                                                                                                                                

I- Introductory sentence: 

…………………………………………………………………………………………………………

…………………………………………………………………………………………………… 

II- Supporting details: 

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

………………………………………………………………………………………………… 

III- Concluding sentence: 

…………………………………………………………………………………………………………

…………………………………………………………………………………………………… 

Write Your paragraph Here   (35 Marks) 

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

………………………………………………………………………………………………………… 
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Name: …………………………..              Class: 12/…………….. 

Second Period Quiz         (No 5) 

 

I- Vocabulary (20 Marks) 

A- From a,b,c and d choose the best answer : (4x5= 20 Marks) 

II- Grammar (20 Marks) 

B- From a, b, and c choose the correct answer as required: (4x5= 20 Marks)  

5-Omar (buy) some milk before he went to the library.                          ( Correct ) 

a- Omar buys some milk before he went to the library. 

b- Omar has bought some milk before he went to the library. 

c- Omar had bought some milk before he went to the library.  

  

6- Olivia has never missed her university lectures, ……………….?       (Add a question tag)  

a- Olivia has never missed her university lectures, hasn’t she? 

b- Olivia has never missed her university lectures, has she?  

c- Olivia has never missed her university lectures, did she? 

 

7- If I were a scientist, I ………………………………………….             (Complete)                                                                                                                                                                     

a- If  I were a scientist, I  will discover cures for all diseases. 

b- If I were a scientist, I would discover cures for all diseases.             

c- If I were a scientist, I would have discovered cures for all diseases.  

 

8- Merit knows the road (good). She doesn't need to use the navigation.         (Correct) 

a- Merit knows the road well. She doesn't need to use the navigation.       

b- Merit knows the road better. She doesn't need to use the navigation.     

c- Merit knows the road the best. She doesn't need to use the navigation.      

  

1.Instead of focusing on important issues, they wasted time on…………..disputes and 

arguments. 

a) civil b) foreign c) petty d) incapable 

2.........................., I could make my dreams come true by joining Kuwait University.  
a)  Ultimately b)  Unfortunately c)  Nervously d)  Regardless 

3.  The building of the highway will……………a lot of families from their homes. 

a)  displace     b) value c)  decimate d) claim 
4. Minorities should be protected against abuse and…………. worldwide by effective 

legislation. 

a)  resort   b)  discrimination c)  supporter d)  boom 
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III- Writing (40 Marks) 
 

    Laws are important for any society. There will be chaos without them. 

Plan and write a six-sentence paragraph discussing how our lives would be without laws. 

                                                            The Outline     (5 Marks)                                                                                                                                

I- Introductory sentence: 

…………………………………………………………………………………………………………

…………………………………………………………………………………………………….….. 

II- Supporting details: 

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

………………………………………………………………………………………………………… 

III- Concluding sentence: 

…………………………………………………………………………………………………………

………………………………………………………………………………………………………… 

Write Your paragraph Here   (35 Marks) 

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

…………………………………………………………………………………………………………

………………………………………………………….………………………………………………                                                       
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